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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Réponses

1. 81

2. 684

3. 539

4. 449

5. 347

6. 126

7. 67

8. 608

9. 956

10. 4

11. 43

12. 331

13. 44

14. 862

15. 417

16. 977

17. 905

18. 332

19. 312

20. 656

Calculez la valeur de la variable.

1) 633 = 552 + B B = 81

2) 547 + 137 = C C = 684

3) 449 = 988 - E E = 539

4) F - 443 = 6 F = 449

5) 533 + G = 880 G = 347

6) H = 910 - 784 H = 126

7) 890 = J + 823 J = 67

8) K = 338 + 270 K = 608

9) 2 = L - 954 L = 956

10) 981 + M = 985 M = 4

11) N + 239 = 282 N = 43

12) 437 = P + 106 P = 331

13) 860 - 816 = Q Q = 44

14) 7 = R - 855 R = 862

15) 747 - S = 330 S = 417

16) T = 668 + 309 T = 977

17) U - 212 = 693 U = 905

18) V = 931 - 599 V = 332

19) 391 - 79 = W W = 312

20) Y + 342 = 998 Y = 656
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Modifié

Calculez la valeur de la variable.

347 4 539 43

67 684 956 126

608 449 81 331

1) 633 = 552 + B B = 81

2) 547 + 137 = C C = 684

3) 449 = 988 - E E = 539

4) F - 443 = 6 F = 449

5) 533 + G = 880 G = 347

6) H = 910 - 784 H = 126

7) 890 = J + 823 J = 67

8) K = 338 + 270 K = 608

9) 2 = L - 954 L = 956

10) 981 + M = 985 M = 4

11) N + 239 = 282 N = 43

12) 437 = P + 106 P = 331

Réponses

1. 81

2. 684

3. 539

4. 449

5. 347

6. 126

7. 67

8. 608

9. 956

10. 4

11. 43

12. 331

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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